

Ajouter Deux Fractions Mixtes (D)

Nom: _____

Date: _____

Note: _____

Calculez chaque somme.

1. $3\frac{4}{6} + 1\frac{1}{7} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$

2. $3\frac{2}{4} + 1\frac{2}{5} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$

3. $1\frac{2}{5} + 1\frac{4}{6} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$

4. $2\frac{3}{6} + 2\frac{3}{7} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$

5. $2\frac{2}{8} + 1\frac{2}{9} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$

6. $2\frac{2}{4} + 1\frac{4}{5} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$

7. $1\frac{3}{6} + 3\frac{1}{7} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$

8. $1\frac{2}{6} + 2\frac{3}{5} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$

9. $3\frac{2}{8} + 1\frac{3}{9} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$

10. $1\frac{2}{6} + 3\frac{4}{7} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$

Ajouter Deux Fractions Mixtes (D) Réponses

Nom: _____

Date: _____

Note: _____

Calculez chaque somme.

$$1. \quad 3\frac{4}{6} + 1\frac{1}{7} = \frac{22}{6} + \frac{8}{7} = \frac{154}{42} + \frac{48}{42} = \frac{202}{42} = \frac{101}{21} = 4\frac{17}{21}$$

$$2. \quad 3\frac{2}{4} + 1\frac{2}{5} = \frac{14}{4} + \frac{7}{5} = \frac{70}{20} + \frac{28}{20} = \frac{98}{20} = \frac{49}{10} = 4\frac{9}{10}$$

$$3. \quad 1\frac{2}{5} + 1\frac{4}{6} = \frac{7}{5} + \frac{10}{6} = \frac{42}{30} + \frac{50}{30} = \frac{92}{30} = \frac{46}{15} = 3\frac{1}{15}$$

$$4. \quad 2\frac{3}{6} + 2\frac{3}{7} = \frac{15}{6} + \frac{17}{7} = \frac{105}{42} + \frac{102}{42} = \frac{207}{42} = \frac{69}{14} = 4\frac{13}{14}$$

$$5. \quad 2\frac{2}{8} + 1\frac{2}{9} = \frac{18}{8} + \frac{11}{9} = \frac{162}{72} + \frac{88}{72} = \frac{250}{72} = \frac{125}{36} = 3\frac{17}{36}$$

$$6. \quad 2\frac{2}{4} + 1\frac{4}{5} = \frac{10}{4} + \frac{9}{5} = \frac{50}{20} + \frac{36}{20} = \frac{86}{20} = \frac{43}{10} = 4\frac{3}{10}$$

$$7. \quad 1\frac{3}{6} + 3\frac{1}{7} = \frac{9}{6} + \frac{22}{7} = \frac{63}{42} + \frac{132}{42} = \frac{195}{42} = \frac{65}{14} = 4\frac{9}{14}$$

$$8. \quad 1\frac{2}{6} + 2\frac{3}{5} = \frac{8}{6} + \frac{13}{5} = \frac{40}{30} + \frac{78}{30} = \frac{118}{30} = \frac{59}{15} = 3\frac{14}{15}$$

$$9. \quad 3\frac{2}{8} + 1\frac{3}{9} = \frac{26}{8} + \frac{12}{9} = \frac{234}{72} + \frac{96}{72} = \frac{330}{72} = \frac{55}{12} = 4\frac{7}{12}$$

$$10. \quad 1\frac{2}{6} + 3\frac{4}{7} = \frac{8}{6} + \frac{25}{7} = \frac{56}{42} + \frac{150}{42} = \frac{206}{42} = \frac{103}{21} = 4\frac{19}{21}$$